| m=mcD [ 241
icE YAl
MEANEAB| 201921 | BHEAB
EXBHR
2
HEER FEET
PitEth  |WEBIEYT67-2
MROE |EBiER MR (NSRS
ER (@ $#CD  |140
XS (K —
SRR [ BEE L PSR |—
BT |IBERL —
BEBEW - 1B
NEEBHECEIFERFBROLFHERERE
. FEICREET BEENSSIC L CERBRE CEBEIST B
BB | phorEd
g R
RS ERBRUEERE
i LA EEERBRUSBREIETHR
BRI - \
R HEEEEMEREN (B9E)
InBE |nBEB
TithiER
ITHpRE | (ZOHDORE)
i E S 1,572 i HHsE |BhHitExEs ARt | Figtoision
IEEILEHE wIAME  |[IgERL RKEE |ZERL
StEN [ZEmU = Y, RV Y
s
BEXSD |[TBEE = MEREE |2
BEES
o 5 7 12
pise RIREE 210 o
(e - SBIBIER
BEBIBEN s |muwzRs|sl IERBRERE| T L
ANiBhEsR |H0 By sisisEs
REERRE |50 FAsREHHE
BIEERlE | DD ABBA/RIV|TE L 2R VAN,
TLA—5—|30L Z2BMLTLU|GL HADDBEIG| /5 L
BEER
PO 1959 g | pogEn | — | #ees |=mL
BERE |B= (ZOHORE)
BEEHE Ezmn | ~ e )
RFARE
EESEHY | MNISED S (O, EMNI2 5EN A
R




RIEH

(&1 0 FA)
(= SH2F | SH3E | D4E || (vp)
FIFBE - AR 104 84 64
wYE 0 0 o 20
Z0tt 0 0 o|l 100
&35 104 84 64| =0
STEIEFELL 0.0% 80.8% 76.2% 60
40
@i |,
SH2FE | DI3E | BI4E .
LR 002 002 002 SiE  HHE  HUE
may | RHEEERARS 002 002 002
(FES) (JpmenEst 0.00 0.00 0.00
ERISES 0.00 0.00 0.00 RADHER
&3t 004 004 004
BT TR [ o
B8 SH2F | BH3E | SH4F
AFE 155 157 147|| 200
e 112 114 111 128
KT FEERABS 44 43 36 140
JEBENEST 0 0 0 1(2)8
ERESHEIS ] ] 0 80
ERE o) 23 ol 5
HEKE ) 0 0 20
0
BIER GRS 0 0 0 A2 HHRE  AWaE
IBEE (Zofh) 0 23 0
e 0 0 0
HISSIBET 0 0 0 BHOHERB
BEEEN 0 0 0
ISy 0 0 0
Z0tt 0 0 0
AR RUEER 0 0 0
AR 0 0 ol &,
S 0 0 0
Z0fits 0 0 0 0
IEEan 0 0 o|| 420
Z0fits 0 0 o|| 440
=1 155 180 147|| A60
STBIEELL 00%| 116.0% 81.3%]|| 480
A 100
(847 : Fr) |A120
EE SH2E | DHUSE | DIAE PAE - SflsE SHaE
25 GEA-REE) A 51 A 96 A 83
SURTEEELL 00%| 187.4% 85.8% =5 (RA—EE) OEB

15505818




1548 - TEBER

(81 - T
10EMRICENRE L2000 B EDg#E « T
RIEFE TEHE &ER Bs
(81 : FM)
SETICERBULARELETS
RIEFE IBRB &8

1550818

ISR

158 B | BI2E SR3E SR04 E =

MNATH |FENABH A 7 100%
FRIBIREE =] i 80%
(Bfii:P) |a o—o——0 60%
] SR2HF BF3E BF4E ; 40%
. HPE 5 5 51, 20%
B pv=—= 3 3 3| o%

HF2E  HBE  HiE

AB= 60.0% 60.0% 60.0% AEFY —e—ARE

P

15505818




SN

RIS

7 FEER S e
2 zome |50 2R we| B Ter|  Skes
o1 |1S= REFE fEm (1959 W | 30 | 1 O | 334040100006
o2 |28= UN—{z2 A (1959 W | 30 | 1 0 | 334040100006
03 |58= UN—{z2 A (1959 W | 30 | 1 0 | 334040100006
05 |88= UN—{z2 A (1959 W | 30 | 1 0 | 334040100006
06 |98= UN—{z2 A (1959 W | 30 | 1 0 | 334040100006
L SEGE ]

MERIBHR - SIELEFELR

%D MiEEzZHT MmEELE SIEERERBR
eSO EieFE EBIAR RIEFE | REUE(Meet k| WEEHD
o1 |[1S=E RENE — RENE —
02 |25= RENE — RENE —
03 |55= RENE — RENE —
05 |85=E RENE — RENE —
06 |9S=E RENE — RENE —

1550E1R




